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12002 18 RE Az 412002 FARNR Vg 9 0.5 2 5.5 2y
12002 19 IR Az 412002 e E Iy 9 0.5 2 5.5 =2
412002 20 IR 3 HR 412002 HIEZR it} 9 0.5 2 5.5 22
12002 21 IR 3t MR 412002 HALL 5 g 9 0.5 2 5.5 R 22
12002 22 #E L #2002 HE = 12 0.5 7t 8 10 2y
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412102 92 fry 52 3t Hn ¥)2102 B2l = 12 0.5 il 8 10 T3
#2102 93 i) 3t MR 12102 IR | 9 0.5 2 5.5 2
#2102 94 iz} 3t Hn #2102 DI DS B2 5 Y 9 0.5 2 5.5 R
#2102 95 R A i 0} #2102 i PRl /R = 12 0.5 e 8 10 lotess |
#2102 96 Rk L HR #2102 I = AT b aa ¢ = 12 0.5 i 8 10 I
#2102 97 SR EARZILA #2102 B AL Iy 9 0.5 2 5.5 b2
#2102 98 R 3t HR %2102 EER R HER | 9 0.5 2 5.5 T
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T1.2102 121 & 3t M5 T.2102 e U] 9 0.5 2 5.5
T1.2102 122 & P DA 1.2102 mIPE g 9 0.5 2 5.5
T1.2102 123 i3 It 7 1.2102 L2102 3218 = 12 0.5 2 7
1.2102 124 M 3t 7 1.2102 T.210243 5 = 12 0.5 2 7
22101 125 L It 7 %2101 FIPE 3 A U] 9 0.5 It 8 8.5
22101 126 L It 7 %2101 FIPE 3 LT U] 9 0.5 It 8 8.5
22101 127 Jik Ay 7 %2101 EARR g 9 0.5 i 8 8.5
%2101 128 Jik AR il 22101 EARR g 9 0.5 It 8 8.5
%2101 129 AN 22101 SRR T g 9 0.5 2 5.5
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%2101 132 L P il %2101 A4/ F RS — 18 0.5 i 8 13
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%2102 147 R P DA %2102 3T g 9 0.5 2 5.5
12201 148 P i DA 12201 b = 12 0.5 2 7
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12201 150 K P Ei DA 12201 BEZFIOIBE TR Jyg 9 0.5 2 5.5
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12201 152 i} P DA 12201 EATR U] 9 0.5 It 8 8.5
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112302 265 Y RUS gt B 112302 L IRZE B Y 9 0.5 2 5.5 T
#2302 266 JLAKL PAN #2302 AR Iy 9 0.5 2 5.5 T
12302 267 Bzl 12302 FZ TR B R R Jyg 9 0.5 2 5.5 T 243
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2301 276 Bl S AR i 2301 BRAFEAERR Jyg 9 0.5 2 5.5 T 243
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12302 282 X 512302 EARN U] 9 0.5 2 5.5 R
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EiES 329 ThiE St 7 222002 &G EAEER Jyg 9 0.5 i 8 8.5 T2
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¥ e 363 MBI e L HR %2201 % £4ME @l /D.style A = 12 0.5 2 7 S|
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& 380 L HR 42201 Ah2203. 00 FAZE 7y s 9 0.5 2 5.5 i ]
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